Advanced Worksheet

I.  Fill in the Blanks

1. ___________ ______________, an Indian astronomer, calculated the mass a star needs to be in order to collapse into a white dwarf.

2. On their search for Black Holes, scientists look for certain clues such as jets of hot gases and _-____ _________.
3. Since scientists can rarely be 100% sure of detecting a Black Hole, they consider likely finds to be ___________ ___________.

4. When the theory of Black Holes first emerged, scientists ignored it as a theory, believing all stars ended their lives in a _____ __ ________, bringing them under the Chandra limit.

5. The __________ __________ is what keeps white dwarfs and ________ ________ from collapsing into Black Holes.
II.  Select the word in each row that does not fit in the category of the other three.

	1.
	Mass
	Energy
	(186,000mps)2
	Solar mass

	2.
	Jets of gas
	Supernovae
	X-ray bursts
	Binary systems

	3.
	Space-time
	Light
	4-Dimensions
	Time factor

	4.
	White dwarf
	Magnetar
	Neutron Star
	Black Hole

	5.
	X-rays
	Event horizon
	Accretion disk
	Singularity


